4.03.03
Lyllch MANIFOLDS & VALVE PACKS [l

DOSH(E) Subplate - Nominal 3/4”

SPXX_05H(or E)SPSFUAE h:’ -98 'VP_‘ SPXX_05H(or E)BPSFUAE

1.02 vp
YH or XE /—XH or YE

L\@ o i S—
P

wnssana womsowas O

5.00 typ
|=——4.63 typ — [} ®o
Ak K~ —o -0 ¢
vnisasa womeooias (O 5.00 (e][e]
O @) 4.62
6 -38 °e (]

@__[ s 20 % T

A
AN 3
o f 462 - | t
A || e s 0°% w 1|\ o
e 3.16 - og ° 2.75 |=—.38
/AT w7k H wp 2.50
v l { Yo 1
1.63 wp |=—38 typ) 1.56 typ
2.50 typ
DO5H(E) 3.00
2.22 yp
(XE YHI P T B A T(H YE) t 78 up UNC Mounting KIT includes: L
&g) (\’;E) 2 -3/8"-16 x 3.00"SHCS
P A SP=2.50 Metric Mounting KIT includes:
SB/ST=3.00 2 -M10-1.5 x 80mm SHCS
T B 1
1.03
BOTTOM VIEW [=-2.50 -~ _ . 25 f
SPXX_05H(or E)SBSFUAE I o UNC Mounting KIT includes:
- 1 59 2-3/8"-16 x 3.50"SHCS S
DO5H(E) se6 L—|— (Y - 2 -Plugs 413 7]
XElYH P T B A XH(YE) 5.00 Metric Mounting KIT includes: B
YH 7 T xH . 2 -M10-1.5 x 90mm SHCS P
XE) | ~7H(YE) (7T 2-Plugs YH or XE - L
P A @ * 8
| A
T 9 B O T
P T DO5H DO5HE E
BOTTOM VIEW 'Y|H P T B AXH XEP T B AYE S
SPXX_05H(or E)STSFUAE UNC Mounting KIT includes: IR IR
2-3/8"-16 x 3.50"SHCS YHP TB AXH XEP T B AYE
DO5H(E) Metric Mounting KIT includes:
XElYH P T B A XH(YE) 2 -M10-1.5 x 90mm SHCS UNC Mounting KIT includes:
YH | | i__j XH 2-3/8"-16 x 3.50"SHCS
(XE) (YE) Metric Mounting KIT includes:
P A 2 -M10-1.5 x 90mm SHCS
T B O[-—3/4" NPTF PORT
T
PART NUMBER SYSTEM Aluminum DO5H Side Ported Subplate with SAE 12 Ports & Pilot Ports Example: SPXXA05HSPSFUAE

VALVE

MATERIAL PATTERN PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

E1Y ¢ @ Subplate Bottom Ported Only

Side Ported with
Bottom P & T Ports

UNC Std for | D05 Valve |1/4"-20 UNC x .75 dp
SAE & NPT Subplate |3/8"-16 SHCS

Metric Std for | D05 Valve |M6 x 1.00 x .75 dp
BSP* & Metric | Subplate |M10 x 1.50 SHCS

LY Aluminum Side Ported only

Side Ported with
3/4" NPTF "T" Port
on Bottom only

DB Ductile Iron

See Note Below
X &Y Ports

(USA Standard) NPTF NOTE: * = NON-STANDARD OPTION
NFPA T3.5.1-D05 Alt B BSPP 3/4" 1/4" Use "05T" for Valve Pattern Code when
1ISO 4401-05-05 (EURO) BSPT 3/4" 1/4" Subplate with no Pilot Ports is required
NFPA T3.5.1-D05 Alt A METRIC | M27 | M10 Example: SPXXA05TSPSFUAA

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION
Lynch Products Can Be Modified to Suit Your Application
CANADIAN
FLUID IS\I/FpAh "
assoc ONER g oo o e Page
ASSOCIATION CANADIENNE D'ENERGIE FLUIDE MEMBER 7 5




4.03.04
Lynch MANIFOLDS & VALVE PACKS

DO5SH(E) Subplate - Nominal 1”

SPXX_05H(or E)SPSHUAE *’_3_9;: ‘6"2?’ SPXX_05H(or E\BPSHUAE
YH or XE “T~XHor YE

'\./‘/ \'\/'
| |
=0 o
59up 463 ——f

T s s O
5.00 typ
[=——4.63 typ——=| [ o
i wnHsasa s O OOO Oo
f 5.00 o~ Yo 4.62
° .38 °e -]
5.00 (-] (- 7] 3.16 z
—o —0O ¢ H
e f o)[e) I e\ 1 _L
_{ 3.66 38 O O typ
wp 316 og ° 2.75 l__ 38
1.59 typ L " b typ 2.50
- | i Ho f
1.97 vp f=—38 1p 1.56 tvp
2.50 typ
DO5H(E) 2.22 4p 3.00
(XE)YH P T B A XH(YE) UNC Mounting KIT includes: L
YH [ ] 1 xH 94 é’ \\ 2 -3/8"-16 x 3.50"SHCS
(XE) (YE) sp=3.00 r %J Metric Mounting KIT includes: 413
P A SB/ST=3.50 2 -M10-1.5 x 90mm SHCS le—2.50 XH or YE
T B 1 1.03=— /_
1 1.03 |O @é .88
BOTTOM VIEW =-2.50 -—| . - 250 r — |- _f
SPXX_05H(or E)SBSHUAE I o UNC Mounting KIT includes: * f’% fu\ 3.97
S 1.59 2 -3/8"-16 x 4.00"SHCS
U DOSH(E) 366 1 —|— (£ Y\ 2 -Plugs 413 \.J %J
B (XE5YH P T B A XH(YE) 5.00 ’ Metric Mounting KIT includes:
P YH ] T X w 2-M10-1.5 x 100mm SHCS /@ | DN
L (XE) | TTHYE) 2 -Plugs YHorXE -T2 o
A P A |<—
T T g B 3
E P T DO5H DO5SHE
YHP T B AXH XEP T B AYE
S BOTTOM VIEW =—2.50 . ' it LR 3
SPXX_05H(or E)STSHUAE I [O | UNC Mounting KIT includes: ! ! | | | | P | | | i}
1.59 2-3/8"-16 x 4.00"SHCS YHP T B A XH XEP T B A YE
DOS5H(E) A\ @ - Metric Mounting KIT includes:
;:I(E YHI P T B A 7(H YEL 5.00 LA 2 -M10-1.5 x 100mm SHCS UNC Mounting KIT includes:
— t— e 2-3/8"-16 x 3.50"SHCS
(XE) (YE) Metric Mounting KIT includes:
P A 2-M10-1.5 x 90mm SHCS
T B e} N—1"NPTF PORT
T
PART NUMBER SYSTEM Aluminum DO5H Side Ported Subplate with SAE 16 Ports & Pilot Ports Example: SPXXA05HSPSHUAE

MATERIAL PX:?'II:I\E,:N PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

19O @ Subplate 214 Bottom Ported Only

Side Ported with
Bottom P & T Ports

UNC Std for | D05 Valve |1/4"-20 UNC x .75 dp
SAE & NPT | Subplate |3/8"-16 SHCS

Metric Std for | D05 Valve |M6 x 1.00 x .75 dp
BSP* & Metric | Subplate |[M10 x 1.50 SHCS

Side Ported only

Side Ported with 1"
S NPTF "T" Port on
Bottom only

.Y Aluminum

DN Ductile Iron

SAE
(USA Standard) NPTF 1" 1/4" NOTE: * = NON-STANDARD OPTION
NFPA T3.5.1-D05 Alt B BSPP 1" 1/4" Use "05T" for Valve Pattern Code when
ISO 4401-05-05 (EURO) BSPT 1" 1/4" Subplate with no Pilot Ports is required
NFPA T3.5.1-D05 Alt A METRIC | M33 | M10 Example: SPXXAQ5TSPSHUAA

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

CANADIAN .:/'—g
FLUID NFPA F= g’-ﬁ
Page POWER Solutions through -
) ASSOCIATION % motion technology o P Rver i Woson toctootey Sointetors
7 6 ASSOCIATION CANADIENNE DEENEAGE FLUDE MEMBER




